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QUESTION 1

Which of the following statements is true about a slicer?

A. It keeps the summary column in the report, and removes the detail columns.
B. It affects the values of the cells of the report but not the rows or columns.

C. It determines which set of members are displayed onthe edges of the report.
D. It removes all blank rows in the report to make it more focused.

Correct Answer: B

QUESTION 2

A report author creates the following nestedreport using 2 adjacent levels of the same hierachy. Users should be able to
drill down on the inner nesting with the outer nesting remaining unchanged.

Revenue 200601 Revenue 200601
Camping ~ Cooking Gear 19,319,932.91 Camping ~ Star Lite 11,450,505.,30
Eouipment  poppc 36,602,579.56| | COBMEME oo Dome 5,591,020,45
Sleeping Bags 24,667,784.02 StarGazer2  10,700,822.00
Packs za,nnajas.az- Star Gazer3  5,076,470.76
Lanterns 9,171 666,90 Skar Gazer 6 2,350,784.55
Personal Satches 34,824,622.61 Skar Peq 312,976.50
ACCESSONES popyear £2,160,277.03 Personal iccessories 131,719,858,12
Krives 10,995,773.63
Binoculars 9,985,333.90

What advanced drilling behavior should the report author use to achieve this?
A. Replace Expression

B. Depth Based Expression

C. Preserve

D. Replace Item

Correct Answer: C

QUESTION 3

When the report consumer drills through from a dimensional member to a relational data item, what data type is
passed?

C2090-645 VCE Dumps | C2090-645 Exam Questions | C2090-645 Braindumps 2/3


https://www.passapply.com/c2090-645.html
https://www.passapply.com/c2090-645.html
https://www.passapply.com/c2090-645.html

VCE & PDF https://lwww.passapply.com/c2090-645.html|
2024 Latest passapply C2090-645 PDF and VCE dumps Download
PassApply.com

A. Category code

B. Caption value

C. Member unique name
D. Business key

Correct Answer: D

QUESTION 4

A report author can use a slicer to dowhat?

A. Make the report database smaller and efficient

B. Provide context to intersection values

C. Reduce the number of members on the edge of the crosstab.
D. Generate a zero suppression filter in the rows

Correct Answer: B

QUESTION 5

A report author uses an OLAP cube to create a crosstab with Revenue as a measure, the Product linelevel in the rows,
and the year members (2004-2007) in the columns.

How can the report author efficiently determine the difference in revenue between the years 2005 and 20067
A. Determine MUNSs for the years 2005 and 2006, and then create an expressionusing the MUNSs.

B. Create a new column as a query calculation, and create the expression [2006]-[2005].

C. Create a set of the 2005 and 2006 members and aggregate it.

D. Ask the modeler to create a calculated category in Transformer and then use it directly.

Correct Answer: B
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